Multiplying and Dividing Rational Expressions

Multiplying

Step 1: Factor all numerators and denominators completely.
Step 2: Cancel common factors vertically and diagonally.
Step 3: Multiply across.

Dividing

Step 1: Change the division symbol to multiplication and then flip the fraction that follows.
Step 2: Factor all numerators and denominators completely.

Step 3: Cancel common factors vertically and diagonally.

Step 4: Multiply across.

Directions: Multiply or d|V|de aq_ij express your answer in simplest form.

e 0¥y ot
;&M** B

—_—

@ e~ (axX) 3y _ 4 3_\1_ _ By
C(3y) 3y > = = 21y’
(3yY X 7oaxt q SN

L@\p



o W20 oy (43) | Ax(x<8) = laxy _[y
G X LX/‘@)CX‘S\ 34X J

W+ GCF:ﬂ

YfX -\-3)
2x - (x GCF= %
ax(x-23)
x-9 = (x+¥)){x3)

o BB = Hu-Um L 10y - x| 10y
LRy ARy Gxy

e}
Yat-Ux o GeRzux = H0800x-)) _ | 10(x-D
Yx(x-1) 3x y*
MR
3 XZ \/'-I



T R 3 x

A2-x GCF=x

o Do o (AN x 3D L (e x =) :>(x+|‘1(x—ﬂ}

x (xt=1)
VANEVAN
x X 1\

x (% >ANx=-1)



o Xobxis x5 o XT= 4% +5 k34 ) - (x>8)0N (el x*oxa )

1-x2  x*+1

| — x* X2-25 (LRI (x+SH =53
xX-6arS = —(x2-x+1)
(x=35Nx— 1) S
1=x* = (1) I= A
/N \
¢\ XK
XY = (k= x 41)
o
x5S = (x+5)x-S)
/N /.
x~x SS

2 2 )
. (2X+3)+X33+10X2 X +122x+20 - ‘2){"3] . 6)‘ _qx?- ) XI Y1l x +20
6x° —9x 4x° -9 3 2 =
\— I x° +10x% Ux*-9

= (2r53) . X (DrAR) . (e x+2)

| x* (A30) (A A2
x*~qx®  GeF=3x = 3XT (X2 = Y:s( X+:h\
2 2x~23) i |

x2+10 X* Goy= Xt
X (x 3 \0)

XT+ 17 x+20 ‘-\x"*c,\\ = (2x +3)(X-3)
(x+10 X x +a) eizs 3%





